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Advanced Financial Modeling 
– Certification Quiz Questions 

Module 5 – Valuation Interpretation, Real-Life Usage, and Supplemental 
Methodologies 

 

1. Suppose that you are drafting a “Long” stock pitch for a healthcare company, in which you 

recommend investing in the company’s stock because you think its price will rise. 

 

Which of the following is NOT an appropriate catalyst? 

 

a. Generic drugs could potentially enter the market within the next year and drive 

down prices for the company’s core products. 

 

b. An ongoing lawsuit is likely to be settled in the company’s favor this year, extending 

the exclusivity period for its highest-priced drugs. 

 

c. New drugs in the company’s pipeline will launch in 2-3 years, following their 

approval in the U.S. and EU. 

 

d. The company will announce the clinical trial results from its most promising drug 

candidate in ~6 months; the results are rumored to be positive. 

 

e. All of the above (i.e., NONE of these is an appropriate catalyst). 

 

f. Answer choices B, C, and D. 

 

g. Answer choices A and C. 

 

h. Answer choices A, B, and D. 

 

2. You have built a traditional Unlevered DCF analysis for a biotech company. Unfortunately, 

your VP is a sadistic micromanager who enjoys wasting time on pointless tasks, so he has 

asked you to convert your analysis into a Levered DCF “to see what it would look like.” 
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Although you’re tempted to quit your job, you agree to his request and convert your 

analysis. The FCF projections in this Levered DCF are shown below, with the differences 

highlighted in yellow: 
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Given the conceptual and mechanical differences in this version, which of the following 

assumptions are MORE IMPORTANT than in an Unlevered DCF? 

 

a. A possible Normalized Terminal Year following Year 10 of the explicit forecast 

period. 

 

b. A Debt Schedule that tracks borrowings, repayments, and the net interest expense. 

 

c. Detailed support for the CapEx, Intangible Purchase, and Commercial Milestone 

Payment projections. 

 

d. Cost of Equity calculations based on the predicted or forward Beta rather than the 

standard historical numbers. 

 

e. All of the above. 

 

f. Answer choices A and B. 

 

g. Answer choices A, B, and D. 
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h. Answer choices B and D. 

 

i. Answer choices B and C. 

 

3. Now that you’ve wasted time converting your Unlevered DCF into a Levered DCF, this same 

sadistic VP wants you to convert an Unlevered DCF for another company into a Dividend 

Discount Model (DDM) instead. 

 

This VP believes that the implied values produced by the DDM should be quite similar to 

those produced by the Unlevered DCF. 

 

However, in your analysis, the DDM keeps producing significantly lower implied values. 

What is the most PLAUSIBLE way to change the assumptions in this analysis such that it 

produces higher implied values, closer to those from the Unlevered DCF? 

 

a. You should set the Dividend Payout Ratio or the Dividends per Share to higher 

numbers so that the annual Dividends exceed the annual UFCF. 

 

b. You should calculate the Cost of Equity using assumptions that result in the Cost of 

Equity being less than WACC; a lower Discount Rate should boost the implied values 

from the analysis. 

 

c. Set the Terminal Multiple or Terminal Growth Rate assumptions such that the 

Terminal Value is significantly higher under the DDM. 

 

d. All the methods above are equally plausible. 

 

e. Only answer choices A and B. 

 

f. Only answer choices B and C. 

 

g. Only answer choices A and C. 
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